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QUESTION 1

Which memory management subsystem does KVM use? 

A. QEMM 

B. Xen\\'s memory management module 

C. KVMMM 

D. The default memory management of the Host OS kernel 

Correct Answer: D 

 

QUESTION 2

What is the name of the kernel module that is required to be loaded in order to use KVM on an Intel CPU architecture?
(Specify the module name with NO path information and with or without the module suffix) Your Response 

Correct Answer: kvm-intel.ko kvm-intel 

 

 

QUESTION 3

In order to have all requests matching the ACL acl_static_content directed to the servers defined in server_pool, which
HAProxy directive is required in the following declaration? (Specify ONLY the missing directive) ______ server_pool if
acl_static_content 

Correct Answer: use_backend 

 

 

QUESTION 4

What is the name and path of the configuration file for the OCFS2 cluster file system? 

A. /etc/ocfs2/cluster.conf 

B. /etc/ocfs/cluster.conf 

C. /etc/ocfs2.conf 

D. /etc/cluster.conf 

Correct Answer: A 

 



QUESTION 5

In virtualization, why is using a 64bit host operating system desirable compared to a 32bit host? 

A. 64bit hosts provide more data throughput to guests than 32bit hosts. 

B. Virtualization isn\\'t stable with 32bit based operating systems. 

C. 64bit operating systems get faster access to hardware resources such as disk drives. 

D. There is a larger memory address space which allows for potentially more and larger virtualized guests. 

Correct Answer: D 

 

QUESTION 6

Which of the following authentication types does keepalived support for syncing between failover servers? (Select TWO
correct answers) 

A. PASS 

B. KRB5 

C. AH 

D. NONE 

E. KEY 

Correct Answer: AC 

 

QUESTION 7

Where are paravirtualized device drivers installed? 

A. In the Guest OS 

B. In the Host OS 

C. Compiled into the hypervisor 

D. No special drivers are required for paravirtualization. 

Correct Answer: A 

 

QUESTION 8

Which command should be used to make a backup of the current state and configuration of a Pacemaker cluster? 

A. cibadmin Q > backup.xml 



B. crm_mon vvv > backup.xml 

C. cibadmin V > backup.xml 

D. crm_backup 

E. cibadmin E force > backup.xml 

Correct Answer: A 

 

QUESTION 9

Which one of the following is NOT a required component for running an OCFS2 file system resource in a Pacemaker
environment? 

A. A clone resource for the OCFS2 file system 

B. quorum 

C. dlm 

D. clvm 

E. o2cb 

Correct Answer: D 

 

QUESTION 10

When using Xen, each VM will have a configuration file matching the name of the VM. Where are these configuration
files stored? 

A. Each configuration file is stored with the VM disk files. 

B. In the directory /etc/xen 

C. On a LDAP, NIS or DHCP server 

D. In the directory /var/lib/xen 

Correct Answer: B 

 

QUESTION 11

Which O2CB mode should be used for OCFS2 integration with heartbeat? 

A. user 

B. dlm 

C. heartbeat 



D. kernel 

Correct Answer: A 

 

QUESTION 12

Which virsh subcommand is used to change the number of virtual CPUs onthefly? (Specify only the virsh subcommand
without any additional information) Your Response 

Correct Answer: setvcpus 
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